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Seolve each problem.
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A pallet of toggle bolts weighs 160 kilograms. If a warechouse has 47 pallets, what is their
total weight?

A pizza chain uses 504 grams of cheese on their pizzas. If they sold 92 pizzas, how many
grams would they have used?

A farmer has 309 rows of corn. If he can get 33 ears of corn from each row, how many ears
of corn would he have total?

A cruise ship compartment can hold 779 pieces of luggage. If a ship had 53 compartments,
how many pieces of luggage can it hold?

There are 730 hotels in a hotel chain. If each hotel has 18 rooms, how many rooms are
there total? "

A coat manufacturer puts 862 coats in a shipment. If they sent out 85 shipments, how many
coats would they have sent out?

A candy store had 833 empty shelves. If each shelf can hold 46 pieces of candy, how many
pieces would they need total to fill up all the shelves?

A lawn mowing company had 837 customers. If each customer paid 29 dollars a year, how
much money would they make?

A school bought 477 boxes of computer paper for the computer lab. Each box had 23
sheets of paper inside it. How much paper did they buy total?

A marathon was 340 meters. If 38 people ran in the marathon how many meters would
they have run total?
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